NOTES:

1. APPLY LOCTITE 577 THREAD SEALANT ON ALL THREADS AND APPLY PER
MANUFACTURER'S INSTRUCTIONS.

2. DURING ASSEMBLY TO REAR HOUSING (254492), AFTER TIGHTENING
PROCEDURE REMOVE ITEM 8 (QTY 2).

ITEM NO. [PART NUMBER DESCRIPTION Detault
1 90039  |WASHER, HD FLAT, M16 x 28 x 3.0 12
2 90097  |WASHER, FLAT,PLAIN, STEEL,M8 9
3 90669  |WASHER, HD FLAT,M12 x 22 X 2.5 12
4 90676  |PLUG, 1/2-NPT, SOC HD 3
5 90967  |SOC HD CAPSCREW, M8x110, GR 8 6
6 93232  |BEARING, SINGLE CYL ROLLER (LSS-A) 1
7 97156  |FEY RING SEAL 2
>/ 8 98219 |PIN, METRIC SPRING, M8x26 2
9 98221 CONNECTOR, MALE, 1/2-NPT TO 1/2-TUBE 3
/Lg 00 10 98223  |HEX HD CAPSCREW, M16 x 70, DRILLED HD, GRADE 5 | 12
11 98224  |HEX HD CAPSCREW, M12 x 55, DRILLED HD, GRADE 5 | 12
2X SECTION C-C 12 98225 HEX HD CAPSCREW, M8x20, DRILLED HD, GRADE 5 9
SCALET:2 13 254498  |MANIFOLD, RADIAL 1
14 254513  |CARRIER ADAPTER RING 1
15 254780  |PLATE, RETAINING, LSS-A 3
7
5 2
b 7 @)
: O
f, < > O
O
N
O
1\ 10 1/
12 N\ 12
o o<
3 11 B
SECTION A-A 12 12
SCALE1:6
MODEL MADE FROM: 1509-AS-013-A
REPORT ERRORS & CHANGES -
REMOVE ALL BURRS AND SHARP EDGES N ationa | Re newa b | e
DINEJEI\'I\ISSFL?E)CNIIS:IQI'DQ EquLgAel/L\%%EEERS' Ener Laborator
DECIMALS: FINISH: ANGLES: gy y
REV CHANGED FROM BY DATE |APRD [y 410 6.3 _ +05°| TITLE:
X $0.5 1
A |PRE-RELEASE CPS | 2/14/13 XX £0.25 \/Hm Ra CARR”ER ADAPTOR SUB ASS Y
COPYRIGHT©
RELEASE FOR PRODUCTION CPS | 4/22/13 NOTT0 BE REPRODUCED OR Usep To make | SIZE | DWG. NO. REV
OTHER DRAWINGS OR MACHINERY
C |CHANGES PER MFG REVIEW CPG 3/14/16 DRAWN CPs %L% 2/14/13 B 254 784 C
CHECKED| NJB |anoteprs © L [SCALE: 1:5 |WEIGHT: 158.88 kgs | SHEET 1 OF 2




REPORT ERRORS & CHANGES -
REMOVE ALL BURRS AND SHARP EDGES National Renewabl e
Energy Laborator
DECIMALS: FINISH: ANGLES: gy y
); t]og 6.3 _~ +05° TITLE:
XX_ 025 Vim Ra CARRIER ADAPTOR SUB ASS'Y
COPYRIGHT©

oGRS | o | PV NS Py

DRAWN [ CPs [DATE:_2/14/13 B 254734 C
TH

CHECKED| NJB |anote prs © L [SCALE: 1:20 |WEIGHT: 158.88 kgs | SHEET 2 OF 2




	Sheet1
	Drawing View1
	Section View A-A
	Drawing View6
	Drawing View11
	Section View C-C

	Sheet2
	Drawing View7


